A Mot A A
T Al - Al 2
& =X A2 (&9 HM
SAN-ZH-SA(FA) - NFAY - BES O AF K J|E Hlw &2
Aot S ALY A 6,433,364 4,805,338 1,628,026
= 54,946 0 54,946
= 6,378,418 4,805,338 1,573,080
Al Al 2 93,449 38,503 54,946
= 54,946 0 54,946
= 38,503 38,503 0
=3 X =Xl 54,946 0 54,946
= 54,946 0 54,946
1M ==& =2 & JPE=2 Folillci=+3S 54,946 0 54,946
Ab
= 54,946 0 54,946
401 Al HIL 21 54,946 0 54,946
= 54,946 0 54,946
01 Al H] 54,211 0 54,211
OF=1H & g2 L AT = =541l
=4l 54,211 0 54,211
= 54,211 0 54,211
03 Al € R CHH] 735 735
OF=1H =& &4+2 Y MJE==2 >3 II6H
=14l 735 0 735
= 735 0 735
MRS (Aot A A) 6,339,915 4,766,835 1,573,080
HEHH K= 6,339,915 4,766,835 1,573,080
o= BINGEXNE 8&= 2,561,478 1,310,384 1,251,094
9 HES 179,504 0 179,504
01 BIIEELIIHINHES 179,504 0 179,504
Odst=E SIIZEEH H&3 179,504 0 179,504
404 SJ1HH=dES 2,381,974 1,310,384 1,071,590
01 SIS SEIAHNN2EES 2,381,974 1,310,384 1,071,590
Ogot= SIILELINH HES 2,381,974 1,310,384 1,071,590
St=C BINIFXNY 8&3 3,778,437 3,456,451 321,986
309 HES 819,101 552,251 266,850
01 BIIESLEIHNINNES 819,101 552,251 266,850
Oct=k BIIESEH HES 819, 101 552,251 266,850
404 SILHH2HES 2,959,336 2,904,200 55,136
01 BIIESEIAHN=2NES 2,959,336 2,904,200 55,136
Oct=k BIIESEH dES 2,959,336 2,904,200 55,136
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